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Findysothat A+2y=4B' '

2. < "'The income of A, B amd C are as 5423 and their
- spétiling dre as 854, lf”ﬂsa\real{sﬂﬂuutofanmmme
of Rs1200 find the ‘savings'of B and C. ]

3. cmmm@@“ﬁfﬁ%nﬁmﬁ: -

4. Find the sum of ali-natural: numbers hetween. 10 and
200 which are divisible by 7.

ra =
1

8, The third term of a G.P. is 24 and 6™ term is 192. Find
the sum of nine terms. .
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10.

11.

12,
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A certain sum at simple becomes
Y540 after Syrs and 7576 after Tyrs. Find the amount
after 15yrs.

Find the number of different permutations of the letters
in the word ‘REGRESSION” if

(1) The vowels are kept together

(i) The vowels may not come together

If A= {1,23.4) B={23.4,5} C={1,3,4,56,7}
find (i) AUBUC (ii) ANB

From 6 Red Balls and 4Blue Balls, Sare to be selected.
In many ways can this be done, if there must be

(1) Exactly 2 blue balls

(i) 2 Red and 3 blue balls

If 8persons working 8hrs a day can complete a work in

I5 days. then how many persons can complete this
work in 6 days by working 10hrs a day?

. R I8 4
Find out A~ when A—[E 2

Find ayf dy Tor the following:
y=x-—12e* +8log, x - ‘S'x_lfg
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Section-B

Note : Attempt any two questions. (10x2=20)
1-4:.%

13. Show that A=[2 1 2]
& 4 1

14,

15.

Satisfies A’-4A -51=0, where I is identity matrix and 0
denotes zero matrix.

Fins the maximum and minimum values of the function
f(x)=x*—6x2+12x -3

If i = {0,1,2,3,4,5,6,?,8,9}
A={034,7}
B ={1,2,8,9)

Verify that (AUB) = 4'n B’
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